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Abbreviations: 
 –  Picot mp mock Picot 
 + join R Ring 
Ch Chain RW Reverse Work 
DNRW Do not reverse work SR Spilt Ring 
lj lock join SS Switch Shuttle 
 
Two shuttles, wound continuously. 
 
Crown and Sides 
R 6 – 3 – 3 
R 3 + 3 (– 3)x4 
SR 3 + 3 / 6 RW mp 
Ch 4 lj (mp 3 lj)x4 4 lj SS 
SR 6 / 6 RW mp 
*Ch 7 RW 
R 6 + 6 RW* Repeat between *’s 6 times.  
R 6 – 6 SS DNRW 
Ch (8 lj)x6 times around crown RW 
 
Brim 
R 6 – 6 RW 
Ch 7 lj (to picot of last ring) (7 lj (joining between ring) mp)x5 DNRW SS 
R 6 – 6 RW 
Ch 7 lj (picot from prev R) (7 lj)x6. Secure to end picot from brim ring. Tie, cut 
and hide ends 
 
 


